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Use the following information ‘0

answer the next question. qﬂ' = @[ d ’02) = (00
= . an
VEOROSKEIEI N0 V105 (E3K02 ) e 50 any number. beTivean 8 and
1 the oi ts have ]’J
im0 Ml 4 Spate Qool iefivend
Answer: _

{Record your answer on the answer sheet.) R ._° 5 q! f,B 5? and qz"
(Ndfez %ﬂf yoo ake aszed hoeo quj )

Use the following information to
answer the next question. . ]-dbD 015 3% Fdﬂeﬁfs -3 (.Ohen divydn é S@T]@a
When simplified, 5' =+ 5® can be written —py ON Fb rersls

in the form a”. g3 & u_)h% a=5 b=
- = -—-5
2. What is the value of a + b? /5? 5 e e e !
answersaso=_ 10 e G4+b=5+5 = l /i 3 B :

{Record your answer as an. value on the
answer sheet.)

«Wwhen Yhe base is f\eSca:H\/e/) and e
3. What is the value of (-9)% + (-2)*? - *“%‘ P onent 1S _ewen . ___:3“({) o
Answer: )

(Record your answer as analue on the B 4“'4 ) - é‘@% C‘Q$~%—§1~——~~ =

answer sheet.)
« Wher e s negetive Gnd +he,
Use the following information to é)fponen'f 15 0d —2 C")
answer the next question. (’ 2)5 = (' ¢) ( z) (..,L) s 6 o
Equation1 6°+7°+9% =3 a8 - 8 B K= S

Equation 2 (25 x 27)° = 23

Fauation 3 272" =2 _——-Wmi.,__é +

0, 52
Equation 4 2 ;2 =2

4,  Which of the equations are true?
Write the equation numbers in

‘ljumenca! 01'§€E>

Answer:

(Record your answer on the answer sheet.) C @wmﬁ% ‘H\Qf (,..y\-?ﬂ A ,é{( h‘? oY

Joémadt% PoLseRS You have 1
ceal v Sﬁﬁr\cf&zothfj:aem ard ~He

la . of cﬁoanér\ﬁ do n@f 4[Pf>°0\




5. What is the value of x in the equation . %membep_ ‘f’h al - A 5
0.4 = vx? 3  because 33 =9
Answer; x = Oe 'é ﬂ

—p
o J/
(Record your answer on the answer sheet.) V'_’ = O.4 W n ;t most he
(0-Y ) %= (o) (o) = OV
6. What is the value of §-+ -i— expressed as g‘l,[ —_
fracti lest f ? 1o e
a fraction in simples om? 00" ﬁ@)}\od I Cross. ol
ikcwmmcmn befirtcolomnr T = ;. ¥ -

Answer: g (Revord the fuﬂﬂh:u: t&a«:-!culumnl o.1 b 3 - / 3 .X“/ - )b 3’

la (Revord (b desomingtor i the thind Gstumng - “f Bl f’é \ T :
(Record your answer on the answer sheet.) __rr’/P e / » H @M 9/_- I ’?Z aff“’ Cd“

' Method 3 Byl .18 9aq
Yy 55 a0 \o
7. Order the following rational numbers 2 &
. 9 2x 1§ :
from smallest value to greatest value, o z— 2 == 1T
using the numbers 1, 2, 3 and 4. - HxS so o
pll el S = /
Use the number 1 to represent thesmatlest value and (a
the number 4 to represent the greatest valuc_:/ " *Smdl@f ‘fb) 5‘.«
e L L2 5G y © ‘Cm";;r;:;a mived poriac:
32 1 4 21 =

0 5 10 35 g
(Record all” ﬁ;@ your answer on the [

answer sheet.) * le,'fg @b ' ‘T&\
® @ o ‘4)0 e ..

n ? o]
A A T R
8 Whatisthevalucof0.5 x 054274097 (527~ &5 35 .35
Express your answer to the nearest
h_ugdredth.
Answer: £

{Record your answer on the answer sheet.)

9, What is the value of the expression

34 - 7(4 - 2)%

Answer: 6

(Record your answer u@ﬂug on the
answer sheet)
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10. Whatis4%+5 x 4— 117 LDy Yxit=1b
Answer: 2,5 @ 5>¢ Y= ZO
(Record your answer as af integer value on the - -H-\en

answer sheet.)

1o+ 20 <1 = Bo=it =25 |

° (.l )J N m A
12. What is the approximate square root of ‘ F{ KO pn et \j -2 Usa m fecr'
143 R “‘H‘xf’ ake close 4o “+he norn%
to the nearest whole number?
9 —

Answer: ﬂ ‘ 173% /L/L/L -—-~~’~fq41!~»——wv7—_~_-i '& % L}

(Record your answer on the answer sheet.) ey 4

Use the following information to
answer the next question.

Alberto’s living room has a square shape. ; o _1'6 S5z 4.2 m
He measured the length of one wall to be J

43 m. ‘}’heﬂ

5

(4.2) (4:3) = ¢4-3)"
5
Us demc 1g.ua m?
+r

5 1 §— - E_HE

. pumall_ e T e .
11. What is the arca of Alberto’s living room | . ] 8 ’,"l T | : :

expressed to the nearest tenth? ‘ i .

Answer: ‘8-5 m?

(Record your answer on the answer sheet.)

o)\
X
V)
t

13. What is the value of ,‘} -%5— x l% to the

nearest tenth?
e e —
Answer: 2-.-

(Record your answer on the answer sheet.)

A - Beoms —> TD)src&wwe, neoeez:_rj

14. Solve for x in the following equation. ) =
=3(x +10) = 2(x - 20) : 5/63:?03 2) T = o
Answer: A4 I —dX-30 golx ‘:’é’ =2
(Record your answer as an integer valie enthe Q,L,X 2.0> Zx o L{O . | Ame———
answer sheet.) )

- check s -3(12) = 2(-18) ‘""~:’>>a—2>o ;zx_uto - Ho-20= 2X+?>><



15, Solve for x in the following equation.

055'\642—:{)—6‘.,} 8= 12 this means

Apswer: x = 36 L{ "q”’(ﬁ&a’“&/ q‘* )

Qecordyow smowerssalowgeroeonve o XS Ve pomber. divided by @
e :

answer sheet.)

o T e ey ——

16. Solve forx in the following equation. . - :
R e

Express your answer to thq nearest tenﬂ}

Answer: x="0=3 e lax + (o ,2><+3 S 2X-2X = B

(Record your answer on the answer sheet.) e

; lOXJS
C eck : x= — = .- 003
b (2¢0.3) 1) = (2609)+3) 10 |
b (~0-bi!) T —0.L+3
o (6.4) = - 8.b+3
2.4 = a.4|

—_—

17. Solve for y in the following equation. . "{‘j -2, = ”-’ZJ mzdns Hhat

4y -22=42
o o r

Answer: y =

(Record your answer as alue on the Ar

answer sheet.)

_—

Use the foliowing information 1o o 50,‘,6/ “"’h& mQ'WQB

answer the next question.

The following number line shows the o qX +6 > 3)5 + 5

solution set for 4x +6 > 3x + L/y -dX 4+ > S
BRI ,) T ] —r e
L B w [ XF-N

—r

s e .I__.._

18. How many whole numbers on the given |8 J,}% S mears, any /) um b@f&,

solution set will satisfy the inequality? o

opeteder. +han’ =1 not :I"dt)o&% ——5

Answer: 5) 4 \.57 rdj

s not mo&.w(lnq, 2.)

(Record your answer on the answer sheet.)

19, When x = 2, what is the value of R gubSh ”U IE/
(6x - 5)—(2x2+3)2 . ((0’\6 S) - <2>l< +5> |
Answer: x = 2 ‘{J ‘F‘—==
gﬁ::?gi::f;nswerasa@nlmmme ( I;L) - 5) | - L%—J-P 3) = -?__ ’, - q#... P
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20. When the expression (3x — 5} — (x%-x)
is written in its simplest form, what is the
sum of the coefficients from the
expression?

Answer:

(Record your answer as an integer value on the
answer sheet.)
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